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V Semester B.Com. Examination, March 2A23
(CBCS) (2016 -17 and Onwards) (F+R)

COMMERCE
5.5 : Elective Paper - I : lnternational Financial Management

Time : 3 Hours Max. Marks:70

lnstruction : Answer should be completely wriiten in English or in Kannada.

SECTION - A
^^-Jc"JiPdrl - c^,)

L Answer any 5 questions. Each question carries 2 marks. (5x2=10)

iivh- rx€6f 5 ry,2.il+n s!gb:,. E,gci63m 65.111 2 l,cdi'1v;.

1) a) Name the sources of working capital.

-arr-^i? 
^ . ^<-.JJ <\^i.i.iJ\ ?:??Ou9\ ,r aJ\-,/i, rr--L,i,C,L>'L! lp\IsvI l:/aJvq (,:,'^./.

b) Define Money Market.

-Ja ts-Jrir{aJ.<r .- t- - q
@t -- cJ.ir(),rO9J -lJuiJ,.Jn j^JJ-o!:jCJ^1,

c) What is Operational Risk ?

sios*-c- r1:m.go iscdf-,) ?

d) What is profit maximisation ?

-' " 'Edrt;:CUtd: ?urqJQ /)Qdlr

e) What is Future contract ?

o<-\-? . +^a eodol& ?W*"t (!e^.,!vq

f) What is meant by business valuation ?

- 

.Fy' {{1,o. *--:i-i>J c'-/--/J\ s^5i
:!o. 'i..: d U ;J-t" ijr :JJ c ;^: N ('J 

= 
(! l :J a JJ"! .7 V ;J .

g) What is securitizalion ?

-i:1. s..-i +J.::1-{ :ai*air .)r.,l(Jv, WW, (!\*,/aJ ;vUJV\ a.AJ .'

*/9

P.T.O.



cs - 286 I tlltilt iililt ill ililI lllil ilti fft

SECTION _ B

ak?d - z)

ll. Answer any three questions. Each question carries 6 marks. (3x6=18)

dirhi oJ.);dEt dlJadJ {i*d+n nib^,. E,g E,5*3JJ6 eJu) e3dilg& Ae :La)g6
2) Discuss briefly the objectives of Financial Management.

dsaolD Odrd#o$ ercCedil#d: 3otCmfi e;o:J.
L) o. h)tj

3) What is capital rationing ? Explain determinants of capital rationing.

;^ceSmsi icj;curm ;ocded: ? ?JcdDs i:7:cure!65{ i6rb-,*-d s:5r19i:
\Jd 6
J^Jc,JUA.

4) Briefly explain any six sources of short term capital.
ci...-<t 6 \^-:aJ!+ 

^!!\<.:-1^ 
. .)- <\ ^ --e-11!r \,u-jr.)Ll L^, \, Li)$Jev{.J Uul.,/c i1J Cru r.j Ui g il U_ iJJd i / )! lJvo w;J U :r.

s) "cos*t of debt is lower than cost of equity share capital." Give reason why
even then a company cannot work only with the debt.
"De)d dL3d *S*W ded: e;cdmeJi Cz38cd dad:cJ.tftd." &eflddr EeCe;

medraorJn Eod&cil: rcobresrtoiq: udCIdo: r-rdea CeG.

6) A firm has initial investment of t 5,00,000 and cash in flow as shown below :

Year Gash in flow PV factor @ 10%
1 2,50,000 0.909

2 2,00,000 0.826

3 1,50,000 0.751

4 50,000 0.693

Calculate NPV. 
'''

z-od: Eod-cJ: etdotpd z;odm# t 5,00,000 dsDnd) CJ$ dddJ z"ddod €ta'aj
JplAin 9* .
(J t' I ICV \-/V(, .

ddr ildd: e.Sdod) nV far{e @ 1A"/"

1 2,50,000 0.909

2 2,00,000 0.926

3 1,50,000 0.751

4 50,000 0.683

4,4d DioS CFe,l (NPV) dcd{3oGc3ro.



IflililtililtiltililtililIililiil 4-J-

SECTION - C
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lll. Answer any three questions. Each question carries 14 marks. (3x14=42)
d$ni cJ:adde *Jacb €,d+iled en:do:.r. €,9 {,-d"ro$,a 14 soddsci; d;acod:dn.
7) Critically analyse the function of financial Management.

dmrai: tdrddo$ uaoj:rd$C: i&md;safi .ldotu.

8) Explain the techniques of risk analysis.
emC: nd_eddcJ: 5c$ ildd: &*o&.

9) Explain various tools and techniques used for lnventory Management.
m,-rc: i'J5-d5*) 

=ogdvJ 
;:eJ diSe^dijiJ ido,ii.-Qr;\

10) Define capital structure. Explain factors influencing on capital structure.

:l: f O d zs i c$ 5r Di &rn & tu . ;o : c Cam d d dcj c: m e d -q;r AE il zi e ci: d o c d dS ;S1
}.rw\,^J,

11) The following data are available in respect of 2 firms, calculate average
cost of capital and comment.

Firm A
T 5,00,000

Nit
T 5,00,000

15%
Nil

T 20,00,000
Nil t 4,00,000

{ 20,00,000 t 19,00,000
* tisdcd dnfu&c*-r.cd cdd; dodeoi: e,uo z;cdeslpeddra dod.:BoGd;o c)gJ
r 9i.d o :z{ao,rA 6J 3
w& a9 qr\Jv!J\r.

Net operating income
lnterest on debt
Equity earnings
Cost of equity share capital
Cost of debt
Market value of equity share
Market value of debt
Total value of firm

i5! r:3lE.dd#o;: sm3$
:ar-:?? i n rt\
^.19\rC^J(,)LJ C!(/9

ca
n*n-{ c;:alrryg9\^./9av- v L^,r9 !-\,1,

r)
r*-J -,9-*- ^ \^+-^o ^)-^^ )r
^lec.JJlCJ- c^li\ J (;-CJclr\' iUr.Jt i r,JOt
ms'ig6 aJOdrE$tdd$ 5d
racDi" E."di dlEd)df cJ: ?,;gldss:/ uJ--- ---'--- --

- L* o'r\'/ c^J'./-i/J
r ..:1 :^-?-^-r *--1 ..L!;w, Uvivawv* ;^)J"v;

Firm B
{ 5,00,000

T 50,000
{ 4,50,000

15/"
1A/"

T 14,00,000

dod0 A
{ 5,00,000

Nit

T 5,00,000
1 tro/tJ /o

Nil
{ 20,00,000

Nit

{ 20,00,000

dodO B
{ 5,00,000

{ 50,000
t 4,50,000

15o/"

1A/"
{ 14,00,000

T 4,00,000
{ 18,00,000


